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- 19 12cm.

>
> HEF 286.8cm?

19.12 X 15 = 286.8(cm?)
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W2 [ [Fol [ 4 [l A [ s [ B
A5 (d) | 92 96 | 76 | 80 | 82 | 85

or

(EA)=(B)x (= ) o] B2

85 x 6 = 510()

Sol @42 [ ot 5

(92+] ]+ 96+ 76+ 80 +82) =85 x 60| L&
[ ]=85%6-(92+ 96+ 76 + 80 + 82)

[ ]=510- 426,

[]=s4(2)
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B

59)7kA 2] FH © 92x 5=460(H)
63]7kx12] FH © 93x 6 =558(F)
63w ] M4

(63] 7tA19] ) - (537HA] 9] )

=558 - 460 = 98(F),

Hoto] 937 o]iFolojof sta g 63] uf =7} 987 o]AFo]ofof
k.
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17.64
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5.68 x @ = 79.52
5.68 x © = 795.2

@2 14°]1, ©2 1400|122
O2 @9 108YYtt.




3.162km
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©0.34%x 9.3 = 3.162(km)
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E =
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.- e hvA =
g f\ a0 | =
I/ ocm 1
|
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> HE 90cm

9X2+8x4+5x8=18+ 32+ 40 = 90(cm)




